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a. What are the conditions to any optical source to be useful?
b. What is the general requirements in choosing any
photodetoctor?

¢. What are the general effects on coupling efficiency?
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a. Explain briefly with the aid of drawing (showing the
operating wavelength relation) the different types of

intramodal dispersion?

b. Name with the aid of drawing the major factors that resulting

the attenuation curve in optical fiber communication?

c. Name the wavelength transmission windows? stating their
wavelength

d. Explain briefly FWM, stating the relation between FWM

and: Chromatic dispersion, channel density?
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SMF Wavelength SMF Attenuation

| SFP Transmitter Power Range

SFP Receiver Power Sensitivity

1550 nm 0.2 dB/Km

2dBmto S dBm

-23 dBm.

* Assume the splice loss = 0.5 dB

GCOL company needs to connect their network in
Misurata (Tomina 220KV Station) with their network in
Zliten (Zliten 220KV Station)via pair of SMFE with
distance of 67Km. using two Huawei Optical Transceiver
SEP (eSEP-1550nm-1000Base-£ZXFC 100)

Table above gives all related system and fiber
specification.

a. what is the maximum distance this system can support?
b. what is the minimum distance this system can support”
*1f a 4Km length fiber cable reel is used to connect....
¢. what is the maximum distance this system can support?

d. what is the minimum distance this system can support?
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a. What are the advantages of LED over LASER? Name the LED g1l 830 PLASER e LED Wi oL 2
types? fLED

b. What are the key processes in Lasing action of any LASER sl S31 € 5l placa (gl A A Il el A L b
diode? Name LASER types? ¢ 5ol cldlaa

c. Name the different types of optical detectors? stating the Uie 945 guiall S5 gl (he Ailinall Y1 831 ¢
different between them? flein 5l
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The two end faces of an optical source’s flylead fiber UYL Sy sradll g pead) Calll e S Algi 0 g
and fiber cable with core refractive indexes of 1.485 are 1,485 Sl Jalaa 55 s yed Lagd g Labad Apdlaia &y yaall
perfectly aligned and have a small gap between them. Laghn b pia b sad 25a 5 as

a. Ifthis gap is filled with a gel that has a refractive index 33450 01,305 el Jalas g3 2Dy 3 paill o3a Lini g3 1)) g
of 1.305. find the optical power in dB reflected at fiber il aatg e nSa A Qi 45 gaall 5l
cable interface. s )

b. If that gap is very small, what is the power loss in dB 4 gedall 3 ail) i ga e clan 3 pma s saill oda S 1) b
though the joint when no index-matching material is LS Jalas-diilas ol ga (5 Jlaaisd pae Ja g8 Junally
used (the gap is only air n=1.00)? £(1.00 = LSV Jalas// Jaib ¢) 2 o (5 5iad 5 saill)
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